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Konstrukce kosodélníka 
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Konstrukce kosodélníka 

 
1. Sestrojte kosodélník ABCD, je-li dáno: 

 
a) a = 50 mm, b = 30 mm, e = 4,8cm 
b) a = 6 cm, d = 3cm, β = 105˚ 

c) e = 5,2 cm, |∢BAC|=34˚, β = 56˚ 
d) a = 64 mm, e= 60 mm, f = 10 cm 
e) a = 45 mm, b = 30m, va = 2,5 cm 
f) α = 65º, va = 4,5 cm, vb = 2,5cm 

 
2. Sestrojte rovnob ěžník ABCD, je-li dáno: 

a) a = 8 cm, b = 5 cm, |∢BAD| = 75° 

b) a = 6 cm, b = 8 cm, va = 5 cm 
c) a = 6 cm, b = 8 cm, e = 10 cm 
d) a = 8 cm, va = 2 cm, vb = 7 cm 
e) a = 7 cm, e = 5 cm, f = 8 cm 
 
3. Sestrojte rovnob ěžník ABCD,je-li dáno: 

a) |∢BAD| = 30°, v a = 4 cm, e = 10 cm 

b) |∢BAD| = 60°, v a = 5 cm, vb = 6 cm 

c) |∢BAD| = 150°, v b = 5 cm, e = 7 cm 

d) e = 6 cm, va = 4 cm, vb = 3 cm 
e) e = 10 cm, f = 12 cm, va = 8 cm 

f) f = 5 cm, |∢ABD| = 30°, |∢BDA| = 45° 

g) a = 6 cm, f = 5 cm, |∢ABD| = 45° 

 


